Subject: Re: How to calculate 'households with at least one ITN'
Posted by elaslan on Mon, 29 Jul 2013 13:56:09 GMT

View Forum Message <> Reply to Message

drogers wrote on Wed, 20 March 2013 15:49I have been unable to reproduce the figures in the
Liberia 2011 MIS for households with at least one ITN.

The DHS report shows 68.0% for U5 and 77.4% for pregnant women as % who slept under and
ITN among households with at least one ITN. | can't figure out this denominator. As far as | can
tell I need to use variable HML10, but it does not seem to be correct.

Is there a variable other than HML10 | should be using to reproduce the DHS figures?

Thanks for any advice out there!

Deirdre
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